(:\r\\'\:.. 0{:@1/@. nte /&e@f""@\{s

> &ékwwcA J]‘({évem(,

6—-(¢5><) “ Fwstoorder awerate




(x+L0x) = B 9 e B 5 %
P ?&)"* _a—%b Sk _1_&% +%T'Dai)€{l§\<3_\.‘ e

-+P(yqb}() M—%XQDX—»% 110X1w%§£3\ﬂ3<3* i
{x—h{h{)— {x-.Ax) z ZQQAX = ”‘L% Axg.t..
P ¢ o 3 O xs
IEiQ %
- 33 o
~—~

C‘?.'r"\')“"‘\\ - A |

ap(wa; \w,rln:gﬁ__,

2“‘—‘! = d&vnm-\-\,\ﬂ_ .
N | 9
Q()u-éx) & Q(X-A)i) = 2 P(x) i E\TAX‘L’ 4 l_L.\_:—ﬁgq A)ﬁ

Yo _ b)) - Lol )r pli-B) | _ 1 3F Ayt
5 L — ) '\";’&KM

ax* D> Nt
Co ) Ny O_@Xj - 5fLo'rx -o-«-cl‘e,- O ( \,r,‘\f,




